A)T swr o O Mfforu_ Y [-0, ﬁnj
Y) PUEeT £4s) = 4o-AS =32 - 8
) ®< L(> Jo0-0 9s Ag
3) P(T26)= P(6ost+s 32) 3o

4) P(TE3%) = P(TY 20 o Te i) Jo-0 S 3
_ Pls+ =3) _ A g
(2T =5)) Recle e ¥
b )

r:____l f,bz\— A T

X ducss da Ve en mait.
EXx)= A=
) er €Y= 4 dew do=do doe A= 4. =04
A

) Plxy )ZJ_P(stse)

- -6\ o _Ga
A (Cem ) aee s
. ~-6A - bxo4
P(x> ¢) = o,sz’l S TE = e
3) ?CX)Al):P(X>G) d( OLPrGS‘QQ (N\o\(y\,q_}(da_
(x30) . Suses do v Sany vk gement™
~\o sv

) On darde & dlqe P(xDE) = oo8
TS = 4 - P(sg xgk)
= A= ff--e\e““dx

- A C" e—A%JQE

- o-S

o P(xvE) = © of”

&« e = Oo;

& ~SA= An(ssF)
&= %= —fof‘(ﬁ=§)

~
@E="’Q"(°_‘°Sj
o, 4
‘%~3o
Horenpbiase Qo moddsne om bowr da 30 My
Ak b ds 24~ of doae




